Algebra Notes – section 10.1
10.1 – Graphing Parabolas
Vertex form is y = a(x – h)2 + k where (h,k) is the vertex of the parabola and x=h is the axis of symmetry.  

When a is positive, the parabola opens upward and (h,k) is the lowest point.

When a is negative, the parabola opens downward and (h,k) is the highest point.

When ӏaӏ > 1, the parabola gets narrower.
When ӏaӏ < 1 (a fraction), the parabola gets wider.

The number inside the parentheses tells how many units the parabola shifts left or right.  If the number is positive, the parabola shifts left, negative shifts right.

The number at the end of the equation tells how many units up or down the parabola shifts.  If the number is positive, the parabola shifts up, negative shifts down.

Ex)
Identify the vertex, the axis of symmetry, and describe the shifts for the graph and then sketch the parabola.

y = (x + 5)2 – 4 



y = -3(x – 1)2 + 2
